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HEARE ST EEBPHABAEE B £ 35055 5k BT LA EATE

% L] Hg - BIRHE AL % B B ® # m =
EZAEE 15, 832, 596
KERBERAEFED 15, 832, 596
KEHRE 15, 832, 596
KEHRE 13,478, 957
REE 326, 620
1 REER 1.00 232, 603 232, 603
=
2 HWHMER QEELY) 1.00 94,017 94,017
=
MEAE 90, 284
3 EHECEL) 2.00 45,142 90, 284
Hh
TE K E &R 9,811,336
4 BAMFEIRIR 1.00 84, 420 84,420
=
5 BRIHRRE 2.00 84,769 169, 538
Hh
6 BRI R 42.00 109, 602 4,603, 284
Hh
T BARSEEE 2.00 84,769 169, 538
Hh
8 BB EN 1.00 4,784, 556 4,784, 556
=
KEHRE 1,197, 889
9 #K 22.00 43,414 955, 108
Hh R
10 ERLERK 1.00 242,781 242,781
=




HEARE ST EEBPHABAEE B £ 35055 5k BT LA EATE

% L] His - BAIKTHE AL - LR i ® # m =

T 672,100

11 S HrElER 1.00 672,100 672,100
=

B 1,214,828

12 REEER 1.00 1,214,828 1,214,828
=

E 165, 900

13 HaTHE 1.00 96, 600 96, 600
=l

14 HRHE 1.00 69, 300 69, 300
=l

EEEE 2,353, 639

B 130, 000

15 XBHER 1.00 130, 000 130, 000
=

T2H 2,178, 639

16 ZEERM 1.00 2,178,639 2,178, 639
=

Z 0t 45, 000

17 ETRERE 1.00 45, 000 45,000
=




T A6 RPN LWL S KA REAE
% g - AKTiE Bifr = fiff & #B

EEUER 14,617,768
HRE 13,945 668 x 63.9% — 9,049 8,902, 232
BIBELE 14,617,768 + 8,902, 232 23,520, 000
E R 1,202,800 + 12,028 1,214,828
EEAGE 1,202, 800
EEEE 12,028
T DAt 1,202,800 x 53.85% ( 35% = (1 — 35%) ) 647,707
KHRE 1,214,828 + 647,707 1,862, 535
—REEEZ 1,862,535 x 53.85% (35% = (1 — 35%) ) — 5510 997, 465
ABREE 1,862,535 + 997, 465 2,860, 000
A ERHImE 23,520,000 + 2,860, 000 26, 380, 000
HBETEALE 26,380,000 x 10.00% 2,638, 000
ABERE 26,380,000 + 2, 638, 000 29,018, 000




Rifiz -/ \v7r—o

S6EEEMIMBRE AN LRSS KERERE

&5 1
2 . AEER =1
£ 7 R - BIRTE BARL 2 B Of € W E B &
BlEFEHED
A 1.50 54, 600. 00 81,900
B S HER
A 2.00 47,100. 00 94, 200
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBF
A 0.50 34, 600. 00 17, 300
AR L NOY
% 1.00 230, 300. 00 2,303
= 5 1YE%HeH - 1.00K 232, 603. 00 232, 603
&5 :2
B BMERQEESZY) =1
£ 7 R - BIRTiE BAGL 2 B Of € W E B =
BIEHEE
A 2.00 25,900. 00 51,800
Sy 2tiE
B 1.50 217,023. 00 40,534/4. 70H / 8H
BITH(D) BEFY k2RI
= 1.00 760. 00 760
AR BITHE ) 2B <Y
% 1.00 92, 334.00 923
= 5 1YE%HeH - 1.00K 94,017.00 94,017




Rifiz -/ \v7r—o

S6EEEMIMBRE AN LRSS KERERE

%5 :3
&% MERIEGEL) 1THHY (4. 2#5)
£ 7 R - BIRTE BARL 2 B Of € W E B &
REE S4 kY 2L
B 1.00 3,525.00 3,525/2.00H / 8H
B FRP D 70PSZE!
B 1.00 75, 392. 00 75,392 8H
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
GNSS;BIf 2 & DGNSS
B 1.00 25, 740. 00 25,740
AR L NOY
% 0.50 188, 657. 00 943
= 5 1EXRED 4. 20005 45,142. 00 189, 600
&5 4
B BRRIES SR =1
£ 7 R - BIRTE BARL 2 B Of € W E B &
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
AR L NOY
% 0.50 84, 000. 00 420
= 5 1YE%HeH - 1.00K 84, 420. 00 84,420
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S6EEEMIMBRE AN LRSS KERERE

E =)
B BRIMERERE 1HHY (bith=)
%4 7 R - AR R BAf = B i & # W = B &
REE S4 kY 2L
B 1.00 3,525.00 3,525/2.00H / 8H
A FRP D 70PSZE!
B 1.00 75, 392. 00 75,392 8H
B S HER
A 1.00 47,100. 00 47,100
BB
A 1.00 36, 900. 00 36, 900
BIEBNF
A 1.00 34, 600. 00 34, 600
BIEWEE
A 2.00 25,900. 00 51,800
B (FA3—) 10mk 5%
A 1.00 52, 200. 00 52,200
BKTHEE (A1 /3—) 10mR 78
A 1.00 52, 200. 00 52,200
r\EYE
A 1.00 31, 600. 00 31, 600
P TR 2RD%
% 10. 00 385, 317. 00 38, 531
= 5 1YE%HESN 5. 00K 84, 769. 00 423, 848




Rifiz -/ \v7r—o

S6EEEMIMBRE AN LRSS KERERE

ES:6
25 BRI AR 1THHY (3tthE)
%4 7 R - AR R BAf = B i & # W = B &
REE S4 kY 2L
B 1.00 3,525.00 3,525/2.00H / 8H
A FRP D 70PSZE!
B 1.00 75, 392. 00 75,392 8H
B S HER
A 1.00 47,100. 00 47,100
BB
A 1.00 36, 900. 00 36, 900
B (FA3—) 10mk 5%
A 1.00 52, 200. 00 52,200
BKTHEE (FA1/3—) 10mR 78
A 1.00 52,200. 00 52,200
r\EYE
A 1.00 31, 600. 00 31, 600
P PR 2RD%
% 10. 00 298, 917. 00 29, 891
= 5 1E%HES : 3. 00K 109, 602. 00 328, 808
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&5 .17
275 BRMIEREE 18&Y (Giim)
£ 7 R - KT By B = B Of € W E B &
TEE S4 kY 2L
B 1.00 3,525.00 3,525/2.00H / 8H
A FRP D 70PSZE!
B 1.00 75, 392. 00 75,392 8H
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBNF
A 1.00 34, 600. 00 34, 600
BIEHEE
A 2.00 25,900. 00 51,800
BKE(FA1\—) 10mk 578
A 1.00 52, 200. 00 52,200
BKTHEE (A4 /1\—) 10mR 5
A 1.00 52, 200. 00 52,200
tmEyg
A 1.00 31, 600. 00 31, 600
AR =L NOY
% 10. 00 385, 317. 00 38, 531
= 5 1YE%HESN 5. 00K 84, 769. 00 423, 848
%5 :8
2 - SRskREN 1LY
£ 7 R - KT By B = B Of € W E B =
KB - ERET AEY—=RK
=-H 632. 00 2,100. 00 1,327, 200
AR AE—=K
&-H 632. 00 4, 300. 00 2,717, 600
FEFE AE—=K
&-H 316. 00 1, 900. 00 600, 400
AR =L NOY
% 3.00 4,645, 200. 00 139, 356
= 5 1YE%HeH - 1.00K 4,784, 556. 00 4, 784, 556
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S6EEEMIMBRE AN LRSS KERERE

59
A% K 1A%HY (b 4thm)
£ 7 R - KT By = B Of & | W E B &
REBE 54 kY 2
H 1.00 3,525.00 3,525 2.00H / 8H
&M FRP D 70PS%! 3.0t
H 1.00 75, 392. 00 75,392 8H
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBNF
A 2.00 34, 600. 00 69, 200
AR L NOY
% 1.00 232,117.00 2,321
& B {EZBEAN : 5. 40t = 43,414.00 234,438
H5:10
& HARERR 1XEY
£ 7 R - KT By = B Of & | W E B &
B = H AR
A 5.50 36, 900. 00 202, 950
REE 54 kY 2
H 5.50 6, 662. 00 36,641/6.00H / 8H
BT (2) BEF koL
= 1.00 3,190. 00 3,190
& it EZBER - 1.00 242,781.00 242, 781
&H#5: 11
B SRR 1LY
£ 7 R - KT By = B Of & o W E B =
S HTEAER
= 1.00 672,100. 00 672,100
& it EZBER - 1.00 672,100. 00 672,100




Rifiz -/ \v7r—o

S6EEEMIMBRE AN LRSS KERERE

H5 :12
B |MESER 1Ky
2 Lo R - KT By = B ff € &8 # H %
FEHED (55
A 3.50 64, 800. 00 226, 800
A (B)
A 10. 00 47, 200. 00 472,000
Hifrg
A 15.00 33, 600. 00 504, 000
EXRARE FEEDY
% 1.00 1, 202, 800. 00 12,028
& it EZBER - 1. 00 1,214, 828. 00 1,214, 828
H5 13
2 . BATHE ZEP,
2 Lo R - KT By = B ff € &8 # w %
BlEFEHED
A 1.00 54, 600. 00 54, 600
B S HER
A 0.50 47,100. 00 23,550
B = H AR
A 0.50 36, 900. 00 18, 450
& it {EZ8ER - 1.00mE 96, 600. 00 96, 600
H5: 14
2 . ZB|E IEED)
2 Lo R - KT By = B ff € &8 # w %
BlEFEHED
A 0.50 54, 600. 00 21, 300
B S HER
A 0.50 47,100. 00 23, 550
B = H AR
A 0.50 36, 900. 00 18, 450
& it {EZ8ER - 1.00mE 69, 300. 00 69, 300




SR - HE T/ S — S0 ERPIAREER) L B Bk MR SR
KRR -ET/N\vr—>

H5 : 15
B EBHRSR 1Ky
2 Lo R - KT By B = B Of € &8 W E B &
(BHRERE
= 1.00 130, 000. 00 130, 000
& it EZBER - 1.00= 130, 000. 00 130, 000
H5 :16
2 . REEGRM 1KY
2 Lo R - KT By B = B Of € &8 W E B &
REERM FRP D 180PSZ!
=] 15.00 144, 520. 00 2,167,800 6.00H / 8H
AR 2RD%
% 0.50 2,167, 800.00 10, 839
& B EZBER - 1.00 2,178, 639.00 2,178,639
5:17
B EIRERE 1Xzy
2 Lo R - KT By B = B Of € &8 W E B &
EIXREHRE E=A2 ) UTRE KEBRERE)
T 1.00 45, 000. 00 45,000
& B EZBER - 1.00= 45, 000. 00 45, 000




